Name

Master 2-3

Order of Operations

EXAMPLE
Calculate.

16 + (—24) + [32 + (5)(=1) + (-8 + 2+ 9)] + 9
=16 + (—24) + [32 + (5)(=1) + (=4 + 9)] + 9
16 + (—24) + [32 + (5)(—1) = 5] + 9
16 + (—24) = [9 + (5)(—1) + 5] + 9

16 + (—24) + [9 + (-5)+ 5]+ 9
16+ (—24) =+ [9+ (-1)]+9
16 + (—24) = [8] + 9

16 + (-3) + 9
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Calculate.

56 + 8 + [14 + (=7) + (—4)(—1)]
—(~4)2 + (~4F

[=5 + (=3)}(—2)(—1)8(2)]

25+ (—16) X 4.— (—2)

8+ (=5)0(—2)] + (8)(—3)
17 = (-3)(-2) — (-2)*

a o o =

o

g 156+ (=2)] - (=9) + (6]
317 + 50(-2) + 72]

g. [(35)(=2)(—1) = (=2)(-5)F
h. [4(4 — 8 + 6) — 5(10 — 1 — 9)P

2. Calculate.
—6 + 8(=3) — 10 , 12 — 3(—4)
a. 8(=5) t 3o
b, 84+ (-6)(-2) _ 5(=3) - 6(1)
~2@2 ¥ 3) (—4-3)
—5 + (—3)(—8) 10—-5+1
C =83 +5 1" 9+3
-8+ (2)(—1) . —~8(=5)
d == 2
e 80:8x3_3-5

(=5) x 2 —2
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Calculate.
—(=3)(2)(-1)°
~(=1)° + (-5)°
(-4 +2-8) + (-9 — 2
[(=4)=1) + 8(-3)F
.__24 + (.__2)4 —_
3 — (=3P + (-3
— (-2 + (-2 - 1P
(8 — 32 + 28)3 — 3¢

Calculate.

—20 + 3[-2 + (—5)(—2)] — (—3)2
(16 +2)—(—2-1)%(8 - 5?3
(-8+3-2+9) - (-3 +5)*

- =30 — (=3)[(-2)%3) - 5(6)7]

~72 + (~8)(~3?) + 3 - 3(5)
2552+ 32— 22

(8~ 3)2 - (2~ 5)° + 82 + (~16)
- 05+15-13-53+5
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